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10-2=
I1=-2=

4 —3=
3-3=
6 —3=
8 —3=
7-=3=
g —-3=
10-3=
[1-3=
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iy 7 =1= 4 &6 — | =
(2) 6 —3= s @ —3=
3y go— 2= ne | 1—2=
(4) @ — | = a7 5 — | =
(5) 8 —2= g 7 —3=
6y 3 —-3= o) 3 — | =
7y 4 —2= 0 7 —2=
8y § —|= @y 10—3=
oy 11—3= 227 3 —2=
o 4 — | = 21 |0— | =
an |0—2= 24y @ — 2=
nzm 8 —3= @25 |2—3=
in 6 —2=

Do you remsenber yoor sebiroction ? m
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2y 7-—1
2y & —
(% 10~
(52 | |—2

(2 13~
(3) |2—
(4) 5 —
(5) 7T —

(6)

(7)

(8)

(9)

(10)

(6)

(7)

(8)

(9)

(10)

10—1=
| | -3=
==
B —2=
|2-3=

10-5=
b — 4=
8 —5h=
|1 4=
|4—5=
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e B Q=9 = | — 4
it et queshon
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